HX{JEREA S DA IVIID
Attachment description

20V bV IN— YA RIORFTY3Y

CAUTION!

XEN @ I - ) T — TR (o YUY E T+ ICBIEL . BET — T eI RRICERL TFEL, )

X mark expresses A Dual adhesive tape “D” is stuck. (Stick a double adhesive tape and fix certainly, after fully degreasing with white gasoline.)
the original

~
\ FERYEUERELTTE, £

The steel net is painted FRONT
i ° lusterless black. N
08N K—5m) X
THLEDRE "c YARII AT 32 Side Extension
The back of a front bumper NI =U=Uk—ZAME X \ /
The figure of the point of MIEZEAALTTEL. i - TR 03,5 AEIZRHZE TR T LHe RSB TTL
tightening a lower screw. The bumper reinforcement TR TR The measurement of This figure express right-hand side.

will be reused later. the original the receiving hole is ¢ 3.5 (Attach left-hand side similarly.)

U'\‘wl\#

Rear Bumper Extension
YPINVIN—THRAFIvav

08V IN—
Front bumper

= CAUTION!
NUI——UR—ZARV Y 5 — AET— FESTIF PR (hoh VU ST+ CBIEL 8. MET — 7 ZR T RRCEEL TFE L. )
(Eﬁﬁ LEBADTHUTIRELTTEL, ) Dual adhesive tape “D” is . (Stick a double adhesive tape and fix certainly, after fully degreasing with white gasoline.)

The bumper reinforcement
( Since this does not use it, remove

and keep it.)
8 —i i & x(LR)
; v SE/ X I\ —EUT N N —
’ “ IORFYYaIDRKE AR
': *(LR) gouTrel. A yrRun-1ozFYvay
) IV T = — B S =L, rrange the end of Bumper > = T A=
(2 IN\—2 5 —ERIR¥HED) i and R%ar Bumper Extengion. A A Rear Bumper Extension

The detailed figure in which

license plate stay is attached 1. WEAN—DOTICTUPZ N N—TIRT Vo3V ]| OmFRe 1. Mark the position of the hole onto the body of the car. This can be
, fIE/ v \—DiRES DY EEICHTHV, FYuBE=ESFAIC done by adjusting the edge of the genuine bumper and the edge
HET—7 [DJ BL{TER I—=FVILET, of the bottom portion the Rear Bumper Extension.
7 i~tds K \ 2. ¥—FVILIEIEBICe8.507W R . SRR TAl & 2. Make a 6.5 hole on the marked portion. Using the Truss screw “A”
D“USI'! adhesn:(e tape @ $ ® 7593w [E] TREIFET . and the flange nut"E” firmly attach the bumper.
is stuck.
EE
A T ATTACHED PARTS
L AR F—T ST HI— &y —5—Z T~ () 207 BNV IN— Front Bumper
Carbon center flap cover ® means the place in which A | RSZR3L M6X20 Truss screw M6X20 2
a water spray is attached. B | FIN-RF— License plate stay 2
FLRATYH— D | @mE@>—7 t0.8 Dual adhesive tape t0.8mm 2m
DAMD sticker Uk == 18
A RIOAT /3y Side Exten
1. Remove the license plate. c Fa~RIvEVRL 4X16 (FTUE ¢3.5 Tappi ith washer 416 ( The measurement of 4
1. FN=TJ—hZHLET . 2. Remove the genuine bumper from the reinforcement. (Will be refusing the original bolts B P8y (FE ¢3.5) S e (e recebving ol .5 )
2. fMENVIN—BEY—VIR—AAVREEARALET . (RILM JUvTEIIBERBLET,) and clips) D | @&E>—7 t0.8 Dual adhesive tape t0.8mm
3. MIENVIN—=DSBU—VR—AXVREAL. 70N VIN—ICRIDEA. 3. Remove all reinforcement from the genuine bumper and the place them on the front UPINVIN—THZAFay
HBOURYFTRERULET . (U—Vik—ZAA VbV —E3ERLEEA.) bumper, using the enclosed parts. A | Rl MBx20 ” s
4, 9p—H—=2T—/X . OVv T, ih—AASSYZE[FITEAFT . 4. Replace the water spray nozzle, clip, hose assembly. =4 W LSS
5. BOFVN—TU—hRF—ZRFFET . (BUTHUIBRKMEETROTTEL.) 5. Place the attached license plate stay. (Set the position of the stay accordingly) E | 95vYFvh M6 Flange nut for M6 screw 8
6. 70V VN—ZEHICRL.MERIVS, JUy T, BEDRUETLOIDEELET . 6. Using the original bolts, clip and attached screws, firmly place the front bumper to the car. D | mi@E>—7 t0.8 Dual adhesive tape t0.8mm om

DAMD INnC. T242-0001 #zZ)IIB AT FEEMA45-2  TEL 046-271-5509  FAX. 046-272-2266
http://www.damd.co.jp  45-2 SHIMOTSURUMA YAMATO,C.KANAGAWA JAPAN Phone.046-254-1164 Facsimile.046-272-2266



